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Add 3,427 1o 26,42

The temperature drops by 8° o —6°

What was the original temperature?

/N

°0' 12 3 45 67 8 910

>
<=

What are the coordinates of
the vertices of the triangle?

- N W F 1N ® O O
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1) Estimate the temperature
at 10:00 am.

an
1

Temperature (°C)

o T T 1
300 AM 930 AM 10:00 AM 10:30 AM

Time

2,42 + = 5,48l

Round 247,841 to the nearest 100,000

How many minutes are there in 3 hours?




Week 6 Day3

When was the
temperature 15°C?

an
1

Temperature (:C)

0 T r ]
900 AM 930 AM  10:00 AM 10:30 AM
Time

Estimate the total of 18,842 and 12,II7

Use <, > or = to compare. 492,38l Q 492,48l

What is the value of the digit 9 in the number 4927
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distance?t

The graph shows a car journey.
What does the flat part represent?

Subtract 3,291 from 24,763

Complete the sequence.

,78] 1,881 1,98

Order the amounts in ascending order.

£0.24 €242 H42p 240p
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Is it possible to read of f

the exact temperature at

|0:05 am?

Temperature (C)
(&)

(9]
1

o T T 1
300 AM 930 AM 10:00 AM 10:30 AM

Time

Add 32,34l to 65,962

Round 387,583 to the nearest 1,000

Work out H8 = |2




Which graph shows a car slowing down?

speed 4 speed l speed I
—
A time B time C time

At what time was the temperature

5°C?

[}
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Subtract 22,"'8' from 6q7,|3q goopm 300 PM 4OOPM 500PM 6:00 PM

Time

Work out 29 X 7/
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What’s the difference between the highest CCCI

and lowest attendance?

Event Tennis Marathon | Football Final | Rugby Final

Attendance 500,397 41,394 78,011 70,103

Eva walks from home to school. seonce oo
Which graph could represent this? ‘ /

A

Estimate the total of 187,891 and 21,271
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How many more games have

team A won than team B? Won
Lost

Which graph shows a car is parked?

speed 1 speed speed

\
—
time

—

time

A B C
Write 304 in Roman Numerals.

time

Work out 47 = |0




What is the total number of

games won by team A and Won

team B? Lost

distance?t

What could the line graph represent?

Round 295,692 to the nearest 10,000

Use <, > or = to compare. .79 Q .92
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How long does it take the

0840 bus to get from
stop A to stop D?

Which graph shows

a slower journey?

Complete the sequence.

6,002 6,001 6,000

Year5 Week?7 Day5

Stop A

Stop B

09:29

Stop C

Stop D

09:53

distancef

distance?

Work out H92 =— 4




